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QUESTION 1

A regional customer would like to migrate their VMware workloads to IBM Cloud with an emphasis on a lower cost
resiliency model to protect against approximately 48 hours of localized outages. The customer currently uses Veeam

A. Multi zone vCenter Server, Veeam, and NetApp Storage Appliance for backup retention
B. Single zone vCenter Server, Veeam, and Object Storage for backup retention

C. Multi zone vCenter Server, Veeam, and File Storage for backup retention

D. Single zone vCenter Server, Veeam, and Endurance Storage for backup retention

Correct Answer: D

QUESTION 2

When connecting an Application Server running on a VSI to a database server running on Bare Metal in IBM Cloud,
which of the following is the recommended connectivity option at the lowest cost?

A. Via a Direct Link VPN

B. Over the IBM Cloud private network
C. Through the public network

D. Using VPC VPN

Correct Answer: B

QUESTION 3

Which file extension does the LogDNA agent monitor by default?
A. .logdna

B. .logvar

C. .varlog

D. .log

Correct Answer: D

QUESTION 4
Which of the following two databases are integrated with IBM Cloud Hyper Protect Crypto Services? (Choose two.)

A. MS-SQL
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B. Cassandra DB
C. MySQL

D. MongoDB

E. PostgreSQL

Correct Answer: DE

QUESTION 5

What does an IBM Cloud Container Registry provide?

A. A collection of multiple zones rules that allow inbound connections to reach the cluster services

B. A collection of multiple regions rules that allow inbound connections to reach the cluster services

C. Multi-tenant, highly available, and scalable private image registry that is hosted and managed by IBM
D. Single-tenant, highly available, and scalable private image registry that is hosted and managed by IBM

Correct Answer: C

QUESTION 6

Which statement best describes the Watson Tone Analyzer service?

A. The Watson Tone Analyzer service uses linguistic analysis to detect emotional and language tones in written text
B. The Watson Tone Analyzer service understands the sentiment and emotions in documents

C. The Watson Tone Analyzer service uses deep learning models to analyze tones across social media platforms
D. The Watson Tone Analyzer service uses acoustic analysis to detect emotional and language tones in audio

Correct Answer: A

QUESTION 7

A Dialog Skill in Watson Assistant can make a web service call via which of the following?

A. Webhook

B. Web service definition language

C. A Dialog Skill in Watson Assistant can make a web service call via which of the following?

D. SOAP Endpoint
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Correct Answer: A

QUESTION 8

What enables faster web performance by locating copies of web data closer to end users?
A. Virtual Router Appliance

B. Load Balancer

C. Virtual Private Network

D. Content Delivery Network

Correct Answer: D

QUESTION 9

Database for PostgreSQL is an example of which type of database?
A. Key-value

B. Graph

C. Document

D. Object-relational

Correct Answer: D

QUESTION 10

Which VMware application mobility technology seamlessly extends on-premises data center networks into IBM Cloud?
A. VMware HCX

B. VMware NSX

C. VMware vSphere

D. VMware Horizon

Correct Answer: A

QUESTION 11

Identify the component marked as B in the Cloud Connection scenario that shows a persistent connection established
between the customer\\'s environment and the IBM Cloud.

Latest C1000-118 Dumps | C1000-118 VCE Dumps | C1000-118 Exam Questions 4/6


https://www.certbus.com/c1000-118.html
https://www.certbus.com/c1000-118.html
https://www.certbus.com/c1000-118.html

www.CertBus.com https://lwww.certbus.com/c1000-118.html
CE RT 2024 Latest certbus C1000-118 PDF and VCE dumps Download

A. Virtual Router Appliance
B. Secure Gateway Client

C. Secure Gateway Service
D. Cloud Gateway Appliance

Correct Answer: D

QUESTION 12

When all objects stored in IBM Cloud Object Storage are encrypted using Server-Side Encryption with Customer
Provided Keys (SSE-C), how are read and write object requests sent?

A. Send encryption information as part of UID/PWD verification

B. Send the required encryption information as part of SSL requests

C. Have their requested UID/PWD verified prior to HTTP request flow

D. Send the required encryption information as headers in the HTTP requests only

Correct Answer: B

QUESTION 13

With regards to disaster recover, what industry term describes * "the maximum amount of time it should take to restore
application or system functions following a service disruption\\'?

A. Recovery Point Objective
B. Recovery Time Objective
C. Restore Point Duration
D. Restore Time Duration

Correct Answer: B

QUESTION 14

The Chief Data Officer (CDO) wants to build a new data solution for his clients. This application needs access to a
Spark cluster on IBM Cloud without the Spark Cluster being accessible over the Internet. If IBM Analytics Engine (IAE)
is selected, what must be enabled to allow the application server to securely access IAE?

A. Transverse Endpoint

B. Gateway Endpoint

C. Service Endpoint
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D. Transit Endpoint

Correct Answer: C

QUESTION 15

When designing infrastructure for critical business applications, transactional databases, or virtual machines that require
low-latency, why might you use Block storage instead of File storage?

A. Block Storage LUNs can be connected to authorized devices through redundant multi- path I/O (MPIO) connections
B. Block Storage LUNs have data at rest encryption using in-house managed keys

C. Block Storage LUNs can be used for file-based NFS shares

D. Block Storage LUNs can connect to authorized devices in another IBM Cloud datacenter

Correct Answer: A
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